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206 M= Hl 20,000 25,000 A5,000
01 =8l 20,000 25,000 A5,000
O g2 Z2HAXTE(EEW W)
20,000,000& 20,000
SN EHAMIAY 220,000 500,000 280,000
402 RI2EX20| ™ 220,000 500,000 280,000
01 At TtEAEEX 220,000 500,000 280,000
O 20== THHE AIZH & ALY 70,000
O AM4sdt2A HESALS 90,000
O 28 HIIHGHRA(AE) NIAAL 60,000
LASEHE SHAY 130,000 220,000 A90,000
402 QI2H X201 M 130,000 220,000 290,000
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O gxE Madgt ZEAY 20,000
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402 RI2FX =201 M 200,000 200,000 0
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01 It AL E X 200,000 200,000 0
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= 69,687
< 10,453
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= 9,450
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J| 9,000
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= 9,450
01 QAN SAIEE =X 22,500 15,000 7,500
O U4 DEE AME SEUSHAE
45,000,000 *50% 22,500
J| 9,000
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= 9,450
FTADIZ2 X8 ALY HI(&ZH]) 40,000 40,000 0
= 15,000
iy 25,000
307 QI2t0| & 40,000 0 40,000
& 15,000
= 25,000
02 Q2B AMAIE E =X 40,000 0 40,000
O == SEiAHE 89 N3
50,000,000 *x80% 40,000
= 15,000
= 25,000
NEZE XEtH F4Ag =4 9,804,558 9,139, 141 665,417
= 601,467
N 257,000
J| 4,219,819
&< 375,862
= 4,350,410
St A0 S & 210273 8,298,035 7,702,140 595,895
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J| 4,059,592
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307 glz2tol & 81,000 90,000 A9,000
02 IZHE M AHE X 81,000 90,000 A 9,000
O BB Mo 2TIW B3
162,000,000& = 50/100 81,000
gusaa XN (I13) 151,468 160,605 A9,137
J| 90,881
< 30,293
s 30,294
307 gl2tol & 151,468 160,605 A9,137
J| 90,881
< 30,293
s 30,294
02 It M AHE L 151,468 160,605 A9,137
O &gnsrzsa XNEI2)
1,409+430& «250! 151,468
J| 90,881
S 30,293
s 30,294
SOtXl MAr AT (Z0) 20,400 44,000 A 23,600
< 6,120
s 14,280
402 RI2EX20| M 20,400 44,000 A 23,600
< 6,120
[ia 14,280
02 BI2HCH & A& HI 20,400 44,000 A 23,600
O SO0HX Aok OFHEALY 40,800,000 *50% 20,400
< 6,120
s 14,280
SIREEAE (= HI) 12,390 7,000 5,390
< 4,956
e 7,434
402 RI2EX=20l A 12,390 7,000 5,390
< 4,956
i 7,434
02 RI2HCH &AM HI 12,390 7,000 5,390
O S2SEAXA 7,000& %1,7705% 12,390
< 4,956
[ia 7,434
TAE HZE 288 XN (013) 2,510,000 2,145,500 364,500
J| 1,170,000
s 1,340,000
307 21201 A 2,510,000 2,145,500 364,500
J| 1,170,000
s 1,340,000
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02 It M AHE L 2,510,000 2,145,500 364,500
O SHZEAZE HMZE28HI 2,240,000,000& 2,240,000
J| 1,080,000
[ia 1,160,000
O StAHIZEAIZ HMZE23HI
200ha*25& x60, 0002 *90/100 270,000
J| 90,000
s 180,000
A ZAME MAFHIXEIIZ) 316,100 519,500 A 203,400
J| 83,050
[ia 233,050
101 @14l 16,100 12,500 3,600
J| 8,050
[ia 8,050
04 JI2ZtHZ22HEE = 16,100 12,500 3,600
O ZAE SZEEI 240 GHE 2204
16,100, 000& 16,100
J| 8,050
s 8,050
402 RIZ2FXt20l ™ 300,000 420,000 A 120,000
J| 75,000
[ 225,000
01 A=A EX 300,000 420,000 A120,000
O =MZ A HZEH K&
150,000,000 *5 Ml E %40/ 100 300,000
J| 75,000
s 225,000
BYUMY 4 (=) 18,000 12,500 5,500
< 7,200
e 10,800
402 RIZEX20l ™ 18,000 12,500 5,500
< 7,200
i 10,800
01 It =2 AL B X 18,000 12,500 5,500
O EEMASHAY 18,000, 000& 18,000
< 7,200
s 10,800
ZEd s4g s XA (=) 285,980 387,760 A 101,780
= 85,794
i 200, 186
301 LBt A 285,980 387,760 £101,780
< 85,794
[ia 200, 186
1MIIEEES 285,980 387,760 A 101,780
O Z&d 42 ASHIXA 285,980,000 285,980
< 85,794
i 200,186
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ESANAIESHUS A (D12) 127,115 127,115 0
J| 127,115
402 QI2H X201 M 127,115 127,115 0
J| 127,115
01 It AL E X 127,115 127,115 0
O SAAESHSHALY 127,115,000& 127,115
J| 127,115
SMEMASHIISEEY 337,500 337,500 0
308 XX EHHSOIA 337,500 337,500 0
07 IXNSHHAURE = 337,500 337,500 0
O sdaFMsHII=sEE 337,500,000 337,500
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402 RI2EXt20l ™ 50,000 100,000 250,000
01 EIATtEAEEX 50,000 100,000 250,000
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ANEEHE SHUXROIS) 255,000 255,479 A479
J| 255,000
307 21201 A 255,000 255,479 AA479
J| 255,000
02 It S AHEL 255,000 255,479 A479
O Az&=E Xl 72¢ 255,000, 000& 255,000
J| 255,000
HEg2X HYEXE(02) 90,000 30,900 59,100
J| 90,000
307 glz2tol & 90,000 30,900 59,100
J| 90,000
02 It MAHE X 90,000 30,900 59,100
O HEHIEXEAY
100, 000& *3,000& *30/100 90,000
J| 90,000
MDJlolEgHM KE(13) 124,620 124,620 0
J| 62,310
< 18,693
s 43,617
307 gl & 124,620 124,620 0
J| 62,310
< 18,693
fia 43,617
02 It HAHEE 124,620 124,620 0
O AAJ1018H™ XI&A 9,300& 13,4005 124,620
J| 62,310
< 18,693
[ia 43,617
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s 14,400
307 glz2tol & 19,200 0 19,200
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s 14,400
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402 RI2EX=20| M 10,800 0 10,800
< 3,600
s 7,200
01 It 2 AL E X 10,800 0 10,800
O === 3CH*6,000,000& x60% 10,800
< 3,600
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& 11,020
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402 BI2H X 20| M 33,060 0 33,060
= 11,020
= 22,040
01 QIZEXIE2AIE 2 X 33,060 0 33,060
O &2 ICT 828 Ag 33,060,000 33,060
=} 11,020
= 22,040
ZASMA SETALAIAE T RAS 20,000 0 20,000
405 XHAHFEHI 20,000 0 20,000
01 XAt 2 E F S| 20,000 0 20,000
O ZABMA BEEAANAL(HE3PC)TY
5,000, 000& *4H 20,000
St A™2AA XA (EH|) 17,220 0 17,220
& 4,920
= 12,300
402 SI2FXHE0| M 17,220 0 17,220
= 4,920
= 12,300
02 OI2HCH &4 AF S HI 17,220 0 17,220
O &t &XtEtel X4 10,395,000& 10,395
o 2,970
= 7,425
O &2 K828 N 3,465,000 3,465
& 990
= 2,475
O &t d88A X 3,360,000 3,360
= 960
= 2,400
UBLSAMHEINY AZHIAY 367,000 0 367,000
N 257,000
= 110,000
307 QI2t0| & 67,000 0 67,000
N 47,000
= 20,000
02 QI2AtAAMAIE E =X 67,000 0 67,000
O BAMZE SAZEY X 67,000,000 67,000
Xl 47,000
= 20,000
402 BI2H X 20| M 300,000 0 300,000
Xl 210,000
= 90,000
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01 BIZtt2 AL E X 300,000 0 300,000
O gRdANATFHH LXK
300,000, 000& 300,000
Xl 210,000
e 90,000
Tt QtEEAS Mo 101,760 207,920 A~ 106, 160
J| 27,380
< 20,520
s 53,860
IIEEHeAE X (013) 22,760 29,920 AT7,160
J| 11,380
s 11,380
307 gl2tol & 6,000 6,000 0
J| 3,000
s 3,000
02 It M AHE L 6,000 6,000 0
O =2k &2 200,000& * 30ha 6,000
J| 3,000
[ia 3,000
402 RI2EXt201 ™ 16,760 23,920 AT,160
J| 8,380
e 8,380
01 It =2 AL B X 16,760 23,920 AT7,160
O JI=sE8h HelAd X (HEAE)
16,760,000& 16,760
J| 8,380
s 8,380
et MAN0Is olEH XNE (=) 24,000 67,200 A 43,200
< 7,920
e 16,080
307 glz2+ol & 24,000 67,200 A 43,200
< 7,920
e 16,080
02 QB HAANGEEE 24,000 67,200 A 43,200
O d¥ls2H XA 120,000& »200set 24,000
< 7,920
[ia 16,080
42 HACCP & E X2 (012) 28,000 39,200 A 11,200
J| 16,000
< 3,600
s 8,400
307 21201 A 28,000 39,200 211,200
J| 16,000
< 3,600
[ia 8,400
02 QItFAAHE X 28,000 39,200 A 11,200
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402 SI2FXHE0| & 9,000 0 9,000
& 3,000
= 6,000
01 QIZEXIE2AIE 2 X 9,000 0 9,000
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= 3,000
= 6,000
A=A 63,400 140,000 76,600
J| 14,100
= 2,820
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et HH| 10,000 10,000 0
22294 10,000 10,000 0
O X 282 & KA 4,000,000 4,000
O o2 282 6,000,000& 6,000
L A0 FIE22 30,000 30,000 0
oI2tol A 30,000 30,000 0
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SOHHE ALY 23,400 0 23,400
J| 14,100
= 2,820
= 6,480
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J| 14,100
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02 QI AAIE E X 12,000 12,000 0
O "HXl A24 & X (HEE)
10,000,0009 = 2JH A = 60/100 12,000
= 6,000
= 6,000
RS g (=24]) 401,784 229,531 172,253
= 247,654
== 46,239
= 107,891
206 M = Hl 171,784 159,531 12,253
= 118,654
& 15,939
= 37,191
01 X2 H| 171,784 159,531 12,253
O AL A(HMs) 157,924,000 157,924
= 111,724
=} 13,860
= 32,340
O FHY A 3 23l 13,860,000 13,860
= 6,930
= 2,079
= 4,851
301 Bt A= 160,000 0 160,000
= 80,000
== 24,000
= 56,000
11 JIEtE2 A= 160,000 0 160,000
O FHY o asl 8BS Al=H|
5,000& = 32,0005 160,000
= 80,000
= 24,000
= 56,000
307 2iz2to| & 70,000 70,000 0
= 49,000
= 6,300
= 14,700
02 QIZ2IA AAIE E X 70,000 70,000 0
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2,000 = 70,0005 = 50/100 70,000
= 49,000
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< 15,000
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< 15,000
[ 22,500
EQAE MHMIISEXHAH(XEAN) 10,000 24,960 A 14,960
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01 At 22/l 2,060 2,300 A 240
O =AY RFA Sl
7,000& * 3% * 602 1,260
O I=sd9x=8 ZHIHE 80,000& =« 100H 800
02 =224l 17,707 17,707 0
O MHEMAM & 2323 17,707,000& 17,707
202 odl 4,000 4,000 0
01 = LH o4 1l 4,000 4,000 0
O I=sdg9g =& ol 4,000,000& 4,000
206 M= Hl 38,000 71,000 A 33,000
01 =8l 38,000 71,000 A 33,000
OAl & 2HA AS%E K&
25,000 *400kg 10,000
O E24der ME NN 7 25,000,000& 25,000
O I=LIIINMM 7 300,000 105 & 3,000
301 L2 A3 120,000 200,000 80,000
1MIIEELES 120,000 200,000 280,000
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A sS4
H: HH2IAH (sS4
¢l =gl CEE-ED
£AH-FH-H2A(3AH) - A2AY -BHES Ofl & oH %}E_i Hn&s2Z
224 /2 HER 14,900 14,900 0
201 £B-2d| 8,900 8,900 0
01 At 22l 8,900 8,900 0
O ger==&Hl 3,000,000& 3,000
O 24=+¢ 1,400
— sTFYoAYSZ(II2)
70,0003 * 59 = 43| 1,400
O =&l 4,500,000& 4,500
202 O4dl 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
O g=f=& ot 6,000, 000& 6,000
23t /ot s¢y 11,700 11,700 0
201 et 8,700 8,700 0
01 At 221l 8,700 8,700 0
O L=t 4,000,000& 4,000
O 2g+<(=83493l) 700,000& 700
O =gl 4,000,000& 4,000
202 4l 3,000 3,000 0
01 = LH Yl 3,000 3,000 0
O gR=& ol 3,000,000& 3,000
234l /8 4 16,200 16,200 0
201 £B-2d| 8,200 8,200 0
01 At 22l 8,200 8,200 0
O e+l 3,000,000& 3,000
O =&l 4,500,000 4,500
O 2+ (=3493l) 700,000& 700
202 oddl 8,000 8,000 0
01 = LH o4 1l 8,000 8,000 0
O gRF=& ol 8,000,000 8,000
MRS (sgdsam) 500,000 0 500,000
HEHHK = 500,000 0 500,000
HEHAHX S (sS40 500,000 0 500,000
702 )I3HEES 500,000 0 500,000
0MII3EES 500,000 0 500,000
O JEsd2RMIIIEBEIIZ2 825
500,000,000& 500,000
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